“®collegebatch con

%—‘%%
(Series GEFH1/4 | E%g@,é [SET~1]
[=] et =
e H. ?P. c:j: 59/4/1

Roll No. wierell S B H STH-IEH B

OCOOCO00  [ERr,
Candidates must write the Q.P. Code

the titl f th -book. :k
O A rr e
IToHIfd fasm=

POLITICAL SCIENCE
fAEia aas : 3 Tve S7ferhad 37 : 80

Time allowed : 3 hours Maximum Marks : 80

qe / NOTE :
) PMAT R AP IA-TTYLa I 23 % |
Please check that this question paper contains 23 printed pages.

(i) Y999 # Tl &TF il AR Gr T q1-97 Shig B weqeff I & 7@-98 |
ford |

Q.P. Code given on the right hand side of the question paper should be written
on the title page of the answer-book by the candidate.

(i) o1 A= L Toh 39 THA-IF H 30 T 7 |
Please check that this question paper contains 30 questions.

(iv) ShuaT U3 T ST TTE@AT I & o Ugel, STUR-YIEdht | U9 T ThHTHh a9
fora |
Please write down the serial number of the question in the
answer-book before attempting it.

(v) 38 Y99 ol Ued o faw 15 fime &1 oy foon mon @ | weAuw o foawor qate @
10.15 S5 fopam SO | 10.15 ST & 10.30 &S ek BT hddl JI-9 ol Uell 3T 39
3afYy & GHH o IT-YEIehT W I3 I a1 foaE |
15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on the
answer-book during this period.

59/4/1 Page 1 of 23 P.T.O.


https://www.collegebatch.com/exams?utm_source=pdf

“®collegebatch con
(ORI
S

HTHT= (4397 :
HETICTRET 145911 %1 a5 FIae] & Tigq 3T 371 ] & 91t BT :

()
(i)
(iii)
(iv)
(v)

(vi)
(vii)

(viii)

(ix)

3G J97-97 4 30 97 & | @4t o7 offdand 3
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Y J97 &7 I 50 5] & 37fer 787 Fi7 FeT |
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&GUE & H J97 G&I7 27 G 30 % FH-3709 (LA) YR & Dg-Dg 3H & J97 8 /
Jeh J97 &7 I 170 JiecT G 3718 787 5147 F16T |
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fafcfiga & 9 -8 uF ‘st for & s 8 udl 787 8 2
(i)  3Eeh! Y[EIA 2008 ¥ T3 |
(i) I8 GOY ATdhaTG IR TG h foeg o |
(i) I8 ITCIe TR 3 ST & foeg o |
(iv) I8 A &9 9 Alhad ohl HIT o T o |
Hﬁﬁ%‘?ﬂﬁﬁ :
(a) had (ii) 3R (iv)
(b) WA (iii) 3R (iv)
() had (i) 3 (i)
d) e () IR (i)
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General Instructions :

Read the following instructions very carefully and strictly follow them :

(i) This question paper contains 30 questions. All questions are compulsory.

(it)  This question paper is divided into five sections — Section A, B, C, D and E.

(iti) In Section A - Questions no. 1 to 12 are Multiple Choice (MCQ) type
questions, carrying 1 mark each.

(iv) In Section B - Questions no. 13 to 18 are Short Answer (SA) type questions,
carrying 2 marks each. Answers to these questions should not exceed 50 words
each.

(v)  In Section C — Questions no. 19 to 23 are Long Answer (LA) type questions,
carrying 4 marks each. Answers to these questions should not exceed 100 words
each.

(vi) In Section D — Questions no. 24 to 26 are Passage, Cartoon and Map-based
questions.

(vii) In Section E — Questions no. 27 to 30 are Long Answer (LA) type questions,
carrying 6 marks each. Answers to these questions should not exceed 170 words
each.

(viii) There is no overall choice in the question paper. However, an internal choice
has been provided in few questions. Only one of the choices in such questions
has to be attempted.

(ix) In addition to this, separate instructions are given with each section and
question, wherever necessary.

SECTION A

Questions no. 1 to 12 are Multiple Choice (MCQ) type questions, carrying

1 mark each. 12x1=12

1. Which of the following statements about the ‘Arab Spring’ are not

59/4/1

correct ?

(1) It began in 2008.

(i1))  The struggle was against terrorism and pollution.

(ii1) It raised its voice against corruption and unemployment.
(iv) It was basically a demand for democracy.

Select the correct option :

(a)  (ii) and (iv) only

(b)  (iii) and (iv) only

(c) (i) and (i1) only

(d) (i) and (iii) only

Page 3 of 23 P.T.O.
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famafafaa 7 @ Hifq s 1 9eq 1wy S AT 8 2

(a)
(b)
(c)
(d)

fafafea 9 9 -8 %A ‘TIdqaar & o fru U g’ @ getig aoHlifdes
it o 9 # wE 8 2

1)

(i1)

(iii)

(iv)

T |l ggud 9 foh WRa % fasm w1 Y omides wafg 3R
T STeR-371{feh == ST 3T =18y |

39 ad Wt meafa o f6 I8 amen i, Tt o feramt
T TE BIST ST Fehal |

had TR ol IR Tkt gHTad ot H gw@qul qiest fHamt
=1Ey |

Y TSI ol € HATE-AM 3R ST hl Tellehld g shiT Sl
a1 |

H@Tﬁ%‘?ﬂﬁ?:

(a)
(b)
(c)
(d)

o 0

(i), (3i) 3 (iid)
(i), (ii) 3R (iv)
(ii), (iii) R (iv)
(i), (iii) 3R (iv)

BRI

(a)
(b)
(c)
(d)

Rgd d ¥ SH-91 o 1962 H 9 & THAT & Ira-g 1 93l 3 ?

WRA 3R =4 o = €1 fodg 38 wet g3t o |
TATS M1 A 1962 % S1G YR H T IR0T ol |
<4, =it foaTe St 9w TsegHd | o T |

= 7 g ® T gfRm wm fhu |
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Who among the following is the ex-officio Chairman of NITI Aayog ?
The President
The Vice President
The Speaker of Lok Sabha

(d)

The Prime Minister

Which of these statements about the political decisions taken after

independence related to development are correct ?

1)

(i1)

(ii)

(iv)

Almost everyone agreed that the development of India should
mean both economic growth and social-economic justice.

It was also agreed that this matter cannot be left to businessmen,

industrialists and farmers.

Only the government should play a key role to ensure growth with

justice.

It was necessary to consult all political parties and get public
approval.

Choose the correct option :

(a)
(b)
(c)
(d)

(1), (ii) and (iii)
(1), (11) and (1v)
(i1), (iii) and (iv)

(1), (iii) and (iv)

Which one of the following statements, related to the Chinese invasion in

1962, is correct ?

(a)
(b)
(c)
(d)

A boundary dispute surfaced between India and China.
Dalai Lama obtained political asylum in India after 1962.
China took the boundary issue to the United Nations.

China used atomic weapons during this war.
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5. = @ wea feu U @ ﬁqﬁwﬁeﬁf*ﬁam(mam mﬁoblwl (R) €/
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(a), (b), (c) 3R () ® & I o &9 | Fal fdehed FHT |

SYHYT (A) : I 7 ‘ATRIA et HieH & 98 T 19 °T™, 2003 1 3h
T TSR T T |

HRU(R): 3o AMfgsh HaR o RN (WMD) fashfaa =t @1 o1 |

(a) TP (A) 3T RO (R) I T&l & T SR (R), AMYHAT (A)
&t ST KT 8 |

(b)  ANMHAT (A) TR HR (R) HI HEI &, T SR (R), AR (A) HI
& AT 7T S § |

(c)  39HYA (A) &l §, T SR (R) T4 2 |

d) RrpEE (A) TeId ], Weg HROT (R) & R |

6. = wea fer U — AW e il IR (A) 9T @R S HRU (R) T
W%mw%w:rswﬁaﬁwﬂﬁq%qaﬁtqaﬁ&qmﬁarﬁ
(a), (b), (c) 3R () & & I = &9 ¥ "l fIshew g |

SYHIT (A): 1971 H UIThEd™ % H1Y I§ % QNH WRA H §gd 9e! 9@ §
IO 3ATT |
FRO(R):  THHEH 7 R Srefemaedn H &fd wgam & forg swomeff

~

st <hY AT s-TS et |

(a) AR (A) 3T HRUT (R) ST T&1 3 3 RO (R), AR (A) <hl
g ST LAl 2 |

(b) SR (A) IR HR (R) M Fel &, T H (R), e (A) I
& ST TgT HL 3 |

(c)  Ahe (A) WEl B, W T (R) Teid & |

(d) AR (A) TAd 7, T RV (R) Hal 3 |

7.  WRA 3R UIhEd™ o o< TTeehe HSIT HaH H HEIEdl i fHeh fohdH

e 2
(a) EIh UsgHd (b) EIH TsA IR
(¢) wifead g9 @ ==

8.  Usgi % oI & AHEl H HAHT MR T g1l o STEH-IGH hi TfshaT I
form ®9 § ST ST B 2

(a) Tovame w8l & 3U™

(b) =3 FrEm
() TEEEH
(d) Tl
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Two statements are given below — one labelled as Assertion (A) and the other
labelled as Reason (R). Read these statements carefully and choose the correct
option as the answer from the options (a), (b), (c) and (d) given below.

Assertion (A) : On 19th March, 2003 the US launched its invasion on Iraq
under the name, ‘Operation Iraqi Freedom’.

Reason (R): Iraq was developing Weapons of Mass Destruction
(WMD).
(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

(b) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

(c)  Assertion (A) is true, but Reason (R) is false.
(d)  Assertion (A) is false, but Reason (R) is true.

Two statements are given below — one labelled as Assertion (A) and the other
labelled as Reason (R). Read these statements carefully and choose the correct
option as the answer from the options (a), (b), (c) and (d) given below.

Assertion (A) : There was a large-scale migration of refugees into India
during the 1971 war with Pakistan.

Reason (R): Pakistan had planned the migration to disturb the Indian
economy.

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

(b) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

(c) Assertion (A) is true, but Reason (R) is false.

(d)  Assertion (A) is false, but Reason (R) is true.

Who played the role of mediator in the Tashkent Agreement between
India and Pakistan ?

(a) UNO (b) USA

(c) USSR (d)  China

A process of exchanging information on defence matters between nations
on a regular basis is known as

(a)  Confidence-Building Measures
(b)  Arms Control
(c) Alliance

(d) Disarmament

Page 7 of 23 P.T.O.



“®collegebatch con

E'E:E'
9. fTafciflga § @ &9 TUrruie e o o v @au g ?

(a) 3Ig

(b) Rt w1 fomfor

(c)  ATdhdIe

(d) 3k TEaS! (M)

10. F=fifad i SreshaIaR Safedd Hifaw
()  Hm 9§ fqusH
(i) 3G e gRI TRt I AT BT
(iii) di=an g A
(iv) T §EIg Al hl gaHasl 9e o Hgih
g foehea ﬂﬁl’Q :
(a) (1), (v), (i1), (ii1)
(b) (1), (iv), (1), (iii)
(c) (1), (i1), (ii1), (iv)
d  Gv), (@), (i), (i1)

11. M SEIgL A % FHRiHA § WRA 1 {6 31 95 Fehel 1 HHAT HEAT 981 ?
(a)  TSHIfdeh 3 3T Hehe
(b) Ig 3N W Hehe
(c) Ig 3 ATISIRIehal

(d) TR TFET R TSI Fehe

[N N

12. THfAfEgd 4 8§ SH-A1 ORERid ¥ SHEEI gig & Sl dhadydd b

T ITAT 98 UgAT ¢ 2 ?

(a) HIH

(b)  HIfeh&a™
(c)  =uTd

d et

59/4/1 Page 8 of 23



10.

11.

12.

59/4/1

“®collegebatch con

(ORI
i

Which among the following is a threat to non-traditional security ?

(a)
(b)
(c)
(d)

War
Manufacturing of weapons
Terrorism

Internal disturbances

Arrange the following in chronological order :

1)
(i1)
(iii)

(iv)

Split in Congress Party
Imposition of Emergency by Indira Gandhi
Fifth General Elections

Appointment of Lal Bahadur Shastri as Prime Minister

Choose the correct option :

(a) (@), (iv), (ii), (iii)

(b) (1), (Av), (1), (1i1)

() (@), G, (i), (iv)

(d)  @Gv), (1), (iid), (i1)

Which two major crises were faced by India during the tenure of Lal
Bahadur Shastri ?

(a)  Political and economic crisis

(b)  War and food crisis

(c) War and communalism

(d)  Failed monsoon and political crisis

Which one of the following developing countries is the first to successfully

control the rate of growth of population ?

(a)
(b)
(c)
(d)

Bhutan
Pakistan
Nepal

Sri Lanka

Page 9 of 23 P.T.O.
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17.

18.

19.

20.

21.

22.

23.
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YA d UTThEdH o s TFe-g GERA o hls &l 3T AT | % 1=2
Hifc 3T & fohegl G T 1 YoATh hITIT | 2x1=2
IR R L& shl TN <hl SIS ShIfT | 2
Tesg s TRRT o T fafe TR o fdl sl TamEIG IR T & i
AT 7 ? T HifNT | 2
% o fohrgl G RN Dl IATR HINT ST 39 TIH TCHE HI Teh Hgwdqul
[SUCEICEN 2x1=2
1977 % 3TH TATE! | vl TSl § | 6l S o fohral g1 HRON hl AT
i | 2x1=2
@UE T

“Qeefirtor J gl Shl IR ST TAHTARU Afveeh IuMhIet o1 e feam 3 17

o o 94 § T doh aIfIg | 2x2=4
“Oen ol STTgieM JTERTEETg i AR A& ST |7 3H HAT hl ghe
i | 4
el wifts” w1 = AN B 2 W foegl IR ew o W foifet e 9w wite
T R | 2+2=4

“Qrel & a9l H gU WA o THTEIITCA SRR {9 oo ot sl =1 Th
RS YrfleR 1 fean 3 17 hed & 987 | g 91 380 Sy | 4x 1=4

1977 % 31T TATET H ST 9TET shl ARI S o I3 IR R T HINT | 4x1=4
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SECTION B

Suggest any two measures to improve relations between India and

Pakistan. 2x1=2
Evaluate any two functions of NITI Aayog. 2x1=2
Explain the notion of traditional security. 2

Why is it necessary for coalition governments to accommodate and

aggregate variety of interests ? Explain. 2

Highlight any two functions of UNICEF which make it a significant part
of the United Nations. 2x1=2

Explain any two reasons for the victory of Congress in the Southern
States in the general election of 1977. 2x1=2

SECTION C

“Globalisation has shifted power from nation-states to global consumers.”

Support the statement with two arguments. 2x2=4

“All regional movements need not lead to separatist demands.” Justify
the statement. 4

What is meant by Veto Power’ ? Name any four countries that enjoy veto

power. 2+2=4

“India’s impressive technological growth in recent years has made the
country an attractive partner of US.” Support the statement giving any

four examples. 4x1=4

Explain any four reasons for the grand victory of the Janata Party in the

1977 general elections. 4x1=4
Page 11 of 23 P.T.O.
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Qs ¥

(&l

I L

fgd Sfamu &1 eyMgds Aed it o feu Mo yodi & I

4x 1=4
TR TSR 3TgieH o Jan fg-tse faga o fovara 78 & 9, fw oft

faurem aiffer aR W g3 A1 | g < 1 e SiufEfs WiRd |

qaAHHE! o feal @t &1 o foTu foham T o | 918 geemEl @ Tl 31eT e 6
Him e § ey o off |

(1)

(i1)

(iii)

faurem < wra Frfafad o & fem s 1 a1t Tgadr % 3TER «
[ERIECRERIRICIIRIN

(a) I I

(b) TS
(c) M

(d) < 3R SR

fafafiga 9 9 fora WA & wEe 3 999 U8 WG 9 3T ST B
<t =S b ooff 2

(a) &EUETg
(b) W

(c) S[drTe
(d) FTEUERR

HeA® ST T 7T i foharm T ot 2

(a) ‘fe-urse forg weatfad & & fau

(b) Weh AT TS UTFREA™ & o foAw
(c) UIfhET <hl HiTEM™ dIR i o ey
(d) i YrRa ¥ gEemHl o f&dl 6l 181 & & fog
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SECTION D

Read the passage given below and answer the questions that follow :  4x1=4

The leaders of the Indian national struggle did not believe in the
two-nation theory. And yet, the partition on religious basis had taken
place. The Muslim League was formed to protect the interests of the
Muslims in colonial India. It was in the forefront of the demand for a

separate Muslim nation.

(1) At the time of partition, which one of the following States was

divided on the basis of religious majority ?
(a)  Uttar Pradesh

(b)  Gujarat

(c) Bengal

(d) Jammu and Kashmir

(ii)  Which one of the following Princely States was the first to
announce to remain independent and not to join the Union of

India ?

(a) Hyderabad
(b)  Manipur
(c) Junagarh

(d) Travancore

(iii) Why was the Muslim League formed ?
(a) To propose ‘two-nation theory’
(b)  To form a new nation named Pakistan
(c) To prepare the constitution of Pakistan

(d)  To protect the interests of the Muslims in colonial India

Page 13 of 23 P.T.O.
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(iv) TauTeM o IR 4 9RG i FaRg TEhR I T &G o7 ?
(a) g forell ot gaa # fovrem &t =medt off |
(b) g W, TEUTd 3T g4 sht THMHAT =mgd! off |
(¢) 9§ YNd ! Th f\srciuug ST =rgdl o |
(d) 9% ARFA & WY GTfHes IR W FagR =gt o |

25. WRA % fou TU UoHifde @AEREE (I8 15 W) H IR TSI I
@), ®), © a1 D & g Afehd fomm w1 7 | F2 & 18 ISR & AR
S TSAT Sl g8 T SR A0 IT-gfedent & 39 Fdl 9, TN 6l 18
SRRl hl shH T 99T AHfea § fean mn gefuq s1em, f=fafead aew &+
e fafen 4x1=4
(i)  WRd o qd Usgafa .. it @ graf-aa o= |

(ii)  HIE % Adl . HHEUS 9 Grafea T |

(i) o8 TS & | “ST T, T T JHA BT AH AT |

(iv) 1965 — 1967 ¥ a8 THR Qe e 1 YT HH Il T |

T bl S SR | AR |

. . TSI &l M
T ShH I TE1d 318

1)

(i1)

(iii)

(iv)
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(iv) What was the stand of the Interim Indian Government on

partition ?

(a) It was against partition.

(b) It wanted peace, harmony and equality of religion.

(c) It wanted India to become a Hindu nation.

(d) It was in favour of treating people on religious basis.

In the given political outline map of India (on page 17), four States

have been marked as @), B), (© and (D). Identify these States on the

basis of information given below and write their correct names in your

answer-book along with the respective serial number of the information

used and the concerned alphabets given in the map as per the following

format :

4dx1=4

(1) The State related to V.V. Giri, the former President of India.

(i1))  The State related to the Congress leader, K. Kamaraj.

(iii) The State from where the phrase, “Aya Ram, Gaya Ram”

originated.

(iv) The State which faced the most acute food crisis in 1965 — 1967.

Sr. no. of the
information used

Concerned alphabet
in the map

Name of the
State

1)

(ii)

(iii)

(iv)

Page 16 of 23
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qig:  HEEd 97 Fa FIRATAT TGHATAAT & 1070 F97 G&IT 25 F T W

26.
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g/
(25.1)
(25.2)

(25.3)

(25.4)

4x1=4

A o g9 Usgufd ot il @ wrafea o= o1 9w fafaw |
HTUY o IdT . SIS (8 TSI 9 grdf-2g o 2

39 TS &1 AW Tt st @ afig Jae, “stmn g, T W S S
7o |

1965 — 67 H TorT TSI &l Ga@ TR W Hohe k1 THEAT HET TS
T ?

f= fer v o w1 ermyde sterm dife s frefafed el % 3@

IS L

(1)

(i1)

4x1=4

ez mn fom g 4 9 form e @ wefR@ 2 2

(a) TIMR (b) UTA

(c) AT (@ et

feu o o 9 ewrten T Aefafga # 9 foew v w e g 2
(a) SMf=df-Teha (b) heTehal HATE

(c) =Wl FHarEdd (d) TR IHarEd
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The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 25. 4x1=4

(25.1)

Name the State related to the former President of India, V.V.
Giri.

(25.2) Name the State to which the Congress leader K. Kamaraj
belonged.

(25.3) Name the State from where the famous phrase, “Aya Ram, Gaya
Ram?” originated.

(25.4) Which State faced the most acute food crisis in 1965 — 67 ?

Study the given picture and answer the questions that follow : 4x1=4

1)

(i1)

The given picture belongs to which one of the following countries ?
(a) Myanmar (b) Nepal
(c)  Bangladesh (d) SriLanka

The memorial shown in the picture is located at which one of the
following places ?

(a)  Shantiniketan (b) Calcutta University

(c) Burma University (d) Dhaka University

Page 19 of 23 P.T.O.
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(i) o= § wFafad ge fohg v o Hfed g3 off ?
(a) 1950 (b) 1975
(¢) 1982 (d) 1987
(iv) 39 T o fIU Hi-91 Bfeh wHes IRt o7 ?
(a) A GINH (b) .S TI.UH. W
(c) Tamst e @ fsass

qig:  FAElEd Fv7 Hac FIEATET GRIeniAAl & 1o/ Jv7 &I 26 F T T
& 1 4x1=4

(26.1) M o It H eIl ol TaH FST Al HIH-81 ¢ 7 ?
(a) EIH USE STHIHI (b) &4
(¢c) ¥d d =™

(26.2) Tfegur TR 1 98 ¢ S = 006 & FHH & BRI g g, 7 -

(a) HIGRIE (b) ST
(¢) 9 (d) UTferEd™

(26.3) I Uikt H, dfvdl WIfchea™ < YYd o faars AptE duy

fergreh -l | ferarm T o 2

(a) G HeleX TEHM
(b) G Hole AEHG
(c) ST Friedn @H
(d) . SRS TE.UH. 3

(26.4) W1 TAl 1 TSTEA b I & HHEI-ET 7 ?
(@) WH (b) U
(c) ¥Id (d) drfehEam
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(iii) When did the incident related to the picture happen ?
(a) 1950 (b) 1975
(c) 1982 (d) 1987

(iv)  Which military ruler was the cause for this memorial ?
(a) General Musharraf (b) Lt.General H.M. Ershad
(c)  Ziaur Rahman (d) Zia-ul-Haq

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 26. 4x1=4

(26.1) Which country is Bhutan’s biggest source of developmental aid ?
(a) USA (b) Russia
(c) India (d) China

(26.2) A landlocked country of South Asia is :
(a) Maldives (b) Bangladesh
(c) Nepal (d) Pakistan
(26.3) In East Pakistan, the popular struggle against the domination of
West Pakistan was led by which one of the following leaders ?
(a) Sheikh Mujibur Rahman
(b) Sheikh Mujib Mohammed
(c) General Yahya khan

(d) Lt. General H.M. Ershad

(26.4) The Seven Party Alliance is related to which country ?
(a) Bhutan (b) Nepal
(c) India (d) Pakistan
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27. (%) TALU IR LT IV % A AL TSHITT | g ol fiH Tq@

SCATal shl ISR hifvT | 3x2=6
YT
(@) 2004 % T YT AT & F1¢ TRG o A(ID TSHITdD Sl o oI
foheal e Torgatl W 3wl wmfd ! IR HIfT | 3x2=6

28. (%) dfvgs ToHifd & o mgwqul fohdl i wafawor greeeht fawarett =i

ISR T | 3x2=6
reran
(@) Tl d Iisd yaferufim oTgieMi Wd 3% WEd ol I9R
HiT | 3x2=6
29. (%) 1991 ® W Hifqwd ¥9 o faged & fobgl dH ®ron w1 favewo
HIT | 3x2=6
Jrran
(@) Wi Nf & fopeal i aftormdi =61 fovetyor iy e woreasy gad
g < QI o1 STefeIaET e Bl TS | 3x2=6
30. (%) THGNIN v § A i Y{HehT T oo HIT | 6
aroran
(@) “IFit srefeaaTyr § gUrR & SEsg o § Al @l o1fde guni 1 oy
g e | 39 %9 % 9 H Sig diF deh [ay | 3x2=6
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SECTION E

Highlight any three major developments that took place in Indian

politics during NDA IIT and NDA IV. 3x2=

OR

Highlight any three points of consensus that emerged among most

political parties in India after the Lok Sabha Elections, 2004. 3x2=

Highlight any three environmental concerns significant to global

politics. 3x2=

OR

Highlight any three international environmental movements and

their importance. 3x2=

Analyse any three reasons for the disintegration of the Soviet

Union in 1991. 3x2=

OR

Analyse any three consequences of Shock Therapy due to which the

economies of Second World countries collapsed. 3x2=

Evaluate the role of ASEAN in the contemporary world.
OR

“In spite of the improvement in the Chinese economy, not everyone

in China has received the benefits of economic reforms.” Support

the statement with three arguments. 3x2=
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